F-N PERBARBEMSE
[50iR R Y A4 7% H i REM 4
(—) MBS A B 73 I
LAY A 7 25 B S Bn A FH SR B AR 842. 4 o6, 544 50 76, JEMEHCA ST 42 120 76, #5772 H~= i
400 1, £ 300 . WP AR ER 1.2 T30, L/ MHFEED 1.1 Tog. 7rBCas Run T
SEFE =42 120/ (400X 1.2+300X1.1) =52 (Ju/T7)
I3 TC PR L 9k
FH P2 i =480X52=24 960 (JT)
7 h=330X52=17 160 (J5)
(327~ ] B 2% A A o~ 2K
(D HBE=FoEm 2R/ s tEE Tt
(2) FE7= 5 S5 AL ) 2 F = 23 B 28 X 57 i 1) 20 Be b 4
TESEBR TAEH, AkLZR F e — M2t “phRl 2 ok ” #E1T 1.

PRL SR 4 BL R BT gt
RLERH FL[FIFE A SR AR 3 e B | AR
MK | BgRE | AR FeE AL | EEH Vi BAYES | FRIE | AoRLE
—% H o FH I (D FEEA | FEHE fic MK} ML L
FEE| H (T (T b (J8) o) o)
) 5
ARG | R | BEEM 400 1.2 480 24 960 | 30 040 | 55 000
AK—— B
AL | orEh | HEM 300 1.1 330 17 160 | 12 840 | 30 000
%S B
AN 810 52 42120 | 42 880 | 85 000
RLERH FL[FIFE A SR AR 23 i B | FEHIE
MK | BmRE | AR ER FEE AW | EH Vi MrER | B | ARLE
—% H o H T (D FEEA | FEHE fic MK ML L
BLH H (T (T b (o) o) o)
) )
AR | HERE | BEM 1200 1 200
K—— [i] b
WHAE | W E | BEM 1600 1 600
7R [ B
/N 2800 2 800
b BARZE | HAE 2500 2 500
f [i] THFE
B HAth 2 700 2 700
2 H
& it 42 120 | 50 880 | 93 000
e/l s S
e AP RO —— AR P AR 85 000
—— B AR PR A 2 800
I3 2 —— A 2 () 2 500
BT 2 700
B AR 93 000

(=D U A A B A0 73 e
T8 S HAB I T3 0 eV e 3R Bfr: Jo



RifERHH T % HARER T | B H
K K = HH 24 SEARE | BEREAES | BEEAR T# BT it
ZRFH HH (THED NN T a1t
(0.5)
A7 AR F = 56 000 28 000 28 000 3 920 31 920
——HAK L5 32 000 16 000 16 000 2 240 18 240
ES N /N 88 000 44 000 44 000 6 160 50 160
RifERHH T % HARER T | B H
K K HH 24 SEARE | EREAES | EEAR T# B it
RFH HH (THD NN Tt a1
(0.5)
EFERA | R 17 520 17 520 2 452.8 19 972.8
——HiEh | AR 12 000 12 000 1 680 13 680
ESN /N 29 520 29 520 4 132.80 | 33 652.8
RifERHH T % HARER T | B
K S = HH 24 SEARE | EREAES | EHEAR T# BT it
ZRFE HH (THED NG THE T a1t
(0.5)
G | AR 600 600 84 684
it L ZE ] 350 350 49 399
by 2 ) 320 320 44. 8 364. 8
/N 1 270 1 270 177.8 1 447.8
B 3 600 3 600 504 4 104
it 78 390 10 974.6 | 89 364.6

(R ] AR bR BRI S KA SR B, gl ot 0 s R

e AP RO —— AR P AR 50 160
—— B AR PR A 33 652.8
il 2 F—— AR 2R ) 684
—— AL ZE A 399
—— BRI ZE ] 364.8
B 4 104
B A HR T T 89 364. 6

(=) AMEZEh 7 2R AR5 Bie

BTSN A, FIN “BREIRZI A" RATH, e\ “Ar=mA” BHE RILRYK; &8
THEBA . HURSE R IEMBh o A, AT Bhe N “HliE SR “CEFHRA” SRE .

R A A BE R ZE X — 4B A P2 R R, AMNWHLZRRIE TN “ AR AR ——R B A R AR B, BN b
BERLZE AR S R AE M) TR, VRN AE = AR AT 7

(9> i3 ok FH B A S A0 43 I

i3 2% FH R HR A b & A8 P SR O A SRS B AR P T R AR I S IR 3 2 Y, B FE AR B IR SR, (B3
W AT KETR PURNEFE. 57hiRdr 2. M2, REGZR. HE5 7%

[527R Y i3 2% A A0 o vh N7 S AR B 3, I % SE N LIRS B8N T LR, FLEsin T LR, B
P\ T30 FH 45 LU A 2 R B 7 4

L4500 Y A S R AR A 7 2 ) F 7 A 2 N9 56 000 /NEF, - 2072 S AR 72 RIS 32 000 /N, A H A il
iR 36 080 JG. ESREH . L7 h2 [ dlis 5t .

Hl38 2 FH > BE =36 080/ (56 000+32 000) =0. 41



FH = B s 28 =56 000X 0. 41=22 960 (JT)
LR NG FR =32 000X0.41=13 120 (J5)
P e TR ek gm ] “HliE AR -

il1d 9 H 4 iR Hfz: TG
EWEERE! A= TR SELEH (SrELEE: 0.4D)
AP AR — B A 7R AR
= i 56 000 22 960
LT 32 000 13 120
it 88 000 36 080
g e (Tl

fife AP — A A — 22 960

—Z7 R,
£%: Bl

13 120
36 080




